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Walk 15y 51 20
57 (N) 00 51 20 00 51 20 3 36 36| 5 8 o 7 13 12
54 L (G) 0 51 20 o0 51 20 3 36 36| 5 8 o 7 13 12
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Walk —— 52 0
57 (N) 0. 521 0 0! 520 o| 3 39 25| s 120 o 7. 18 50
44 L (G) 00 52 0 0 522 o 3 39 25| 5 120 of 7 18 50
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Walk | 5 11 245 30
597 (N) 1 24 30 1i 24; 30| 5 s6; 33 8 27 o] 11 53 6
54 1 (G) 1. 240 30 1i 24 30| 5 56 33 8 27 0| 111 53 6
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R 111 12
57 (N) 1 11 12 1 11 12| 5 o0 26| 7 7 12| 100 o0 51
%4 L (G) 1 11 12 1© 11 12| 5 o 26/ 78 7 12| 100 o0 51
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Run |50 36 18 26. 15
5w 7 (N) 0. 36 18 371 25 0 36 52| 2 35 34| 3 41 12| 5 11 7
24 L (G) 0 36 18 49} 57 0: 43 8| 3 2. ol 4 18 48] 6 4 0
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Run o 321 55 6. 50 44; 40 6] 5
v 7 (N) 0 32 55 311 50 311 40 30i 55| 0f 31 50| 2 14i 19| 3: 11: ol 4 28 38
24 L (G) 0; 32 55 331 55 371 50 311 25| 0 34i 1| 20 230 32| 3 24i 6| 4 411 4
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Walk 5 “ 1. 240 30
v 7 (N) 1i 24 30 19 24 30| 5 56 33 8 27 o0 11: 53 6
24 L (G) 1i 24 30 1i 24 30| 5 56i 33 8 27 o0 11: 53 6
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Zv 7 (N) 0 HHE D HHE D AHE | AHE D ARE D HRS | HRS L HRS D BES | B85 #ER #E
24 L (G) 0 HiH H#E D HEE | B R BHE | #8 BB HEE | B HEE D HE
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Z v 7 (N) 0 HiH O H#E D HEH | B R HHE | R B R | B R HE
24 L (G) 0 HHHE AR HHR | #HE D HES D HRE | HES D HRS L BES | #EH D BEH B
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Z v 7 (N) 0 HiH L H#E L HEE | B R HHE | #EE BB R | B8 R HE
24 L (G) 0 HHHE L HHE L AHE | AHE D ARE D HRE | HES L HRS L BES | B85 #EE L B
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Z v 7 (N) 0 HUH D R#E S | B R B | B HRE R HEE B
24 L (G) 0 HiH O H#E D HER | B R HRE | #EE B R | B R HE




